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Kreisberechnungen 
 

 

 
 

Berechne die fehlenden Größen. 
 

 

 

 

 

da 15 cm 16,5 m  12,6 dm 40,1 cm  

di 1 dm  5,25 m 116,9 cm 3,5 dm 15 dm 

A  132,11 m² 66,25 m²  300,82 cm² 3,14 m²  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

u = 2 ·  r r1 2  

A =  ·  r r1
2

2
2

  

d = 2r 

da= 2r1 
di= 2r2 
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Kreisberechnungen 
 

 

Lösungen 

 
 

 

 

Berechne die fehlenden Größen. 
 

 

 

 

 

 

 

 

da 15 cm 16,5 m 10,58 m 12,6 dm 40,1 cm 2,5 m 

di 1 dm 10,2 m 5,25 m 116,9 cm 3,5 dm 15 dm 

A 98,175 
cm² 

132,11 
m² 

66,25 
m² 

17,4 cm² 
300,82 

cm² 
3,14 
m²  

 

 

u = 2 ·  · 
 r r1 2  

A =  ·  r r1
2

2
2

  

d = 2r 

da= 2r1 

di= 2r2 


